EJEMPLO DE ESCALAMIENTO MULTIDIMENSIONAL
> arana.mds<-cmdscale(dist(arana ,method="binary"),eig=TRUE,k=11)

Warning message:

In cmdscale(dist(arana, method = "binary"), eig = TRUE, k = 11) :

  only 8 of the first 11 eigenvalues are > 0

> arana.mds$eig

 [1]  1.250219e+00  3.897306e-01  3.068640e-01  1.186840e-01  6.168216e-02  4.399355e-02  1.506015e-02

 [8]  5.927789e-04 -2.081668e-17 -1.095791e-02 -2.122654e-02 -2.203670e-02

> arana.mds$GOF

[1] 0.9758054 1.0000000

> arana.mds<-cmdscale(dist(arana ,method="binary"),eig=TRUE,k=2)

> arana.mds$points

                [,1]        [,2]

Arctlute  0.17268349  0.38498488

Pardlugu  0.18465540 -0.27654937

Zoraspin  0.27796652 -0.15933255

Pardnigr  0.25714040  0.02286322

Pardpull  0.23007629  0.14199392

Auloalbi  0.21436441  0.19102024

Trocterr  0.03888876 -0.25166569

Alopcune  0.24926942 -0.11870925

Pardmont -0.07818887  0.01234576

Alopacce -0.30376891  0.06127970

Alopfabr -0.55313660  0.01942297

Arctperi -0.68995030 -0.02765382

> #arana.mds$eig

> arana.mds$GOF

[1] 0.7317782 0.7499222

> 
> arana.nometric<-isoMDS(dist(arana,method="binary"))

initial  value 10.644098 

iter   5 value 9.344055

iter  10 value 7.861538

iter  15 value 7.012483

iter  20 value 6.669317

iter  25 value 6.106094

iter  30 value 5.969922

final  value 5.961174 

converged
> arana.nometric$points

                [,1]         [,2]

Arctlute  0.56372814  0.631135120

Pardlugu  0.36391688 -0.608335676

Zoraspin  0.50422398 -0.346644182

Pardnigr  0.47716592 -0.064231069

Pardpull  0.40864735  0.137042959

Auloalbi  0.47988600  0.221221999

Trocterr -0.01160205 -0.261535424

Alopcune  0.35836667 -0.187703471

Pardmont -0.14018671 -0.003299299

Alopacce -0.43970645  0.139931276

Alopfabr -1.01773582  0.142714152

Arctperi -1.54670391  0.199703614

> par(mfrow = c(1, 2))

> arana.sh1<-Shepard(dist(arana,method="binary"),arana.mds$points)

> #plot(arana.sh1)

> #lines(arana.sh1$x, arana.sh1$yf, type = "S")

> plot(arana.sh1)

> lines(arana.sh1$x, arana.sh1$yf, type = "S")

> points(arana.sh1$x, arana.sh1$y, type = "S",col=8)

> arana.sh2<-Shepard(dist(arana,method="binary"),arana.nometric$points)

> #plot(arana.sh2,col=4)

> #lines(arana.sh2$x, arana.sh2$yf, type = "S",col=4)

> plot(arana.sh2,col=4)

> lines(arana.sh2$x, arana.sh2$yf, type = "S",col=4)

> points(arana.sh2$x, arana.sh2$y, type = "S",col=8)

> par(mfrow = c(1,1))
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